Seat No.:

DIPLOMA ENGINEERING - SEMESTER -1V « EXAMINATION - SUMMER 2015

Subject Code: 346002

Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY

Subject Name: Urban Transportation Planning
Time: 10:30 AM TO 01:00 PM Total Marks:

Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. Each question carry equal marks (14 marks)

Q1 (a)
ys. 1 A
(b)
ol
Q2 (a)
ys.2 A
(b)
ol
(b)
ol
Q3 (a)
ys.3

(b)

What is the significance of Urban Transportation Planning in metro cities?
A2 ARA HL 2SR ol Lo WS Aot RNt of Heccl 9 B ?
How will you improvise the Urban goods movement?

A Ui HIAAMLotoll &% A 58 A Yuidl wAsl?

Differentiate between road side interview survey and home interview survey
techniques.

Rclloll alyA ol vl Aol uR Yalisicd Adenl utudlAl dAsl

dslald UHal
Explain “Lowry Model”
“«AQaldl W3 urestAl.

OR

Explain Fratar method in detail with relevant example.

“5122 Ul » 2L GeleWl AU (Qotdetr AHestal.

Describe various definition used under various transportation planning
models.

2letWEalet A% otoll (e H3A Hi aundl celtuvauAl celd.

What do you know about “Transportation Impact Study Methodologies”?
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Q.3

U4 3

Q.4

U ¥

(a)

(b)

(a)

(b)

“2ledW2lol FrUse S| NASNAY” (A dR 9 .l ©1?

OR

What is traffic assignment ? Explain.
2L8ls WASAN2 9 B? UMl
Why zoning is done in Urban Transportation Planning? Explain in detail.

ABIL 2l W2t WAwetHl Alolol Al HZ sl A B?

Qotdar M.

Given that a zone has 275 household with car and 275 household without car
and the average trip generation rates for each groups is respectively 5.0 and
2.5 trips per day. Assuming that in the future, all household will have a car,
find the growth factor and future trips from that zone, assuming that the
population and income remains constant.

A5 Alotoll VU URHL 1R © Aal VU URUL SR olll. Ball U
[BU ootRalel €2 UefsN U.00 W U0 YUl Rad B. el evs
RUL SR 6 Ag Hiollal Aot Hzell [@Astd €2 ual alldrsdl Bu

ULl W&l crc{l wal vy AJUA URA B,

If 1000 trips are made from the origin zone to the destination zone,
determine the number of trips made by the different modes. Use Logit

model.
Mode Variable values
tm(min.) cm(Rs.) Wm(min.) dm
Pvt. 65 60 0 1
Bus 75 5 5 0
Train 25 8 20 0

It is given that all trip-makers have access to private transport and that the
perceived utility of a mode m, i.e., uy, is given by,

where,

tn is the in-vehicle travel time in minutes for mode m
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Q4

U ¥

(a)

Ccm isthe out-of-pocket cost in rupees for mode m
Wp is the waiting time in minutes for mode m, and

dn is @ dummy variable which is 1 when the mode is private transport, 0
otherwise.

ol Gealcl ot ol [Auild et YUl 1000 BU awat Al el yel
HLtRLHL gl Al Ru ofl dveu 0l Ae WA ol GUuloL 53

HURRAH AALA of HeU
tm(min.) cm(Rs.) Wp(min.) dm
vLato(l sy SO 0 1
AL oY Y Y 0
gol Y ¢ R0 0

€35 (U 520112 HitauHe{l Gualoflaidl o{lAetl Yot YHId 52 B,
Up= -0.004 t,—0.005 cp—0.003 Wy, + 0.015d,,
wAUl,

tm  HURAH HL clgotoll Y3l una Hlolleul

Cm HUERAM Ui cllgotoll YAs3 Wl 3Ulauni
W HURAH HE A Slalloll YA HlolleHi ua,

dn  SHL AAA ¥ B wlotoll HILAH HIZ 1 Wl oA HI2 0 A

OR

Given that a zone has 1500 household with car and 500 household without
car and the average trip generation rates for each groups is respectively 3.0
and 5 trips per day. Assuming that in the future, all household will have a car,
find the growth factor and future trips from that zone, assuming that the
population and income remains constant.

As NolHl 1U00 UHL SR B ol Y00 wRHL SR ol Boll U2
[BU %elR3at €2 UesN 3.0 U U.0 Udl Bad B. elldwuui €35

RUL SR A Ag Hiellal Rlot Hzell [@As €2 wal alldwuell By
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(b)

UL, A&l crc{l wal vty AJUA URA B,

If 1000 trips are made from the origin zone to the destination zone,
determine the number of trips made by the different modes. Use Logit

model.
Mode Variable values
tm(min.) cm(Rs.) W(min.) dm
Pvt. 55 65 1 1
Bus 75 10 5 0
Train 35 10 20 0

It is given that all trip-makers have access to private transport and that the
perceived utility of a mode m, i.e., uy, is given by,

Um= -0.004t,-0.004c,—-0.002 wy,+0.010d,,
where,

tm, isthe in-vehicle travel time in minutes for mode m
Cm, isthe out-of-pocket cost in rupees for mode m

Wp, is the waiting time in minutes for mode m, and

dm, is @ dummy variable which is 1 when the mode is private transport, O
otherwise.

ol Gealcl ot ol [Auild et YUl 1000 BU awat Al el el
HLtRLHL gl Al Ru ofl dvau 0l Ae WIA ol GUuloL 53

HLRRAH AALA of e
tm(min.) cm(Rs.) Wm(min.) dm
weto(l uy sy 1 q
AL oY 0 u 0
gol 34 10 R0 0

€35 (U 520112 HitauHe{l Gualoflaidl o{lAetl Yot YHId 52 B,

Un= -0.004t,—-0.004 c,—0.002 wy+0.010dn,
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Q.5

A v

Q.5

A v

(a)

(b)

(a)

(b)

o,

tn  HIEAM ML cldotall Yug3l a2 Hlo{leul

Cm,  HMURRAM Ui cllgotoll Y3l Wl 3ulauni
W, HRAH UL RAs Alaltall A Hlollaui ua,

dm . SHL UCAlA ¥ B wilotoll HLtAH HIZ U el WA HI2 0 Al

Explain Constant factor method.

A Ulaoell Ad Auesal

Explain in detail all-or-nothing assignment and multiple route assignment.
WA-WR-o1 ol WA HEUA 32 WAUSANR (QrctiRl UM

OR

Explain “Road Network Patterns”.

QAS aeas Veol” AHestal.

What is the importance of population forecasting in Urban Transportation
Planning? Enlist and describe various methods.

A3 2l WBaet S AHL crclloll woUSl of Heccl 9 B? €l
olotlcl €l el urudlll celal.

ok K ok ok ok ok K K Kk
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